Z 5 kIRiaKEE

HAE(E EE EEESRIE
TRRIE 47 68 7)51 8)5! 10)51 128 18 28
- - K K | o 33 aIK e BIK K. . = =33 K
= = 2020/4/13 2020/6/8 2020/7/6 2020/8/4 2020/9/1 2020/1 0/5 550,157 | 5051 /1 751 5021/2/1
= = 10:30 10:00 11.0 10 10 10:30 10 9:55
= b H%*L [0 Fﬁ E%*L ﬂ%h *U B, %U R
= = 8.2 240 22.9 741 26.9 31.9 222 14.4 3. 15.2
= = 94 212 22.9 253 27.1 314 224 197 59 136
1 cfu/mL 100 0 0 0 0 0 0 0] 0 0 1
2 BHENADRSY - FEH REE FEH FEE AEHE FEE AR REE FEE FEE
3 me/L 0,003 0.0003 £0,0003 - £0,0003 <0.0003 £0.0003 - £0.0003 =
4 me/L 0,0005 0,00005 <0,00005 = = = - = = = = <
5 me/L 0.0 0.00 <0.00 = = <0.00 {0,001 = 0.0 = <
[§ me/L 0.0 0.00 0,00 = = <0.00 0,001 = 0.0 = <
7 me/L 0.0 0.00 0,00 = = <0.00 0,001 = <0.00 = <
“8A me/L 0,07 0.007 0,00 = 0,007 <0.002 <0.00 = = = =
me/L 0.04 0.00 0,004 06,004 <0.004 0,004 £0.004 0,004 0,004 £0.604 0,004 0,004 0,004
me/L 0.01 0.001 0,001 - <0.001 - - 0,001 -
me/L 10 . 0,63 0.56 53 0,64 0.75 0,84 0,63 0.65 0.74 0,89 0.80
me/L 0.8 0,08 £0.08 <0.08 0,08 0,08 £0.08 0,08 £0.08 £0.08 0,08 0,08
me/L 1.0 0.1 - <0.1 <0.1 0
me/L 0,002 £0,0002 = = <0,0002 = = z = < =
7x ; - me/L 0,05 <0,005 = = <0.005 = = z = < =
/Z—‘I 2—o/700T s
16 285z —1. 2—Uhnn Mt 0.04 <0.004
ADZI==EL V) me/L 0.02 0.0 = = 0.00 = = = = = =
SIFRS0nIFLY me/L 0.0 < = = 0.00 = = = = = =
[ OLFL me/L 0.0 < = = 0.00 = = = = = =
01+ me/L 0.0 <0, = = 0.00 = = = = = =
i me/L 0.6 0,06 0.07 0,06 0.12 0.09 0.i5 0.08 <0.08 0,06 £0.08
27 me/L 0.02 0,002 - - 0,002 - = = - - -
3 me/L 0.06 0,00 = = 0,027 = = =z = = =
47 me/L 0.03 0,003 = = 5 = = = = = =
o me/L 0.1 0,002 = = 2 = = 03 = = = =
28 me/L 0.01 0,001 = = 01 = = 001 =z = = =
Vi me/L 0.1 0,010 = = 038 = = 020 = = = =
8 i me/L 0.03 0,003 = = i = = 3 = = = =
9o nESTOOAEY me/L 0.03 0,004 = = 009 = = i = = = =
0 [JEERILL me/L 0.09 0,001 = = 001 = = 00 = = = =
31 7|')be7)th|~ me/L 0.08 0,008 = = 008 = = 08 = = = =
me/L 1.0 0,01 = = 01 <001 = i z = - =
me/L 0.2 0,02 = = 3 0.03 = = = = =
me/L 0.3 <0.03 = = 03 <0.03 = 0,03 = = = =
fi % me/L 1.0 0.01 = = 1 £0.01 = 0,01 z = z =
5 % (R DIEEH me/L 00 8.5 = = 0 1.5 = ¢ = = = =
37 7/7:/& ZOILEN me/L 0,05 <0.001 = = <0.001 <0.001 = <0.00i = = = =
i 00 2 9 ii ii 9 8 ii 9 8 i0 i0 1i
i 300 0.1 4§94 - = 425 4§25 - 44% = - = -
i 50 1 80 = = = = = = = = = = =
i 0. 0.02 0,02 = = = = = = = = = = =
0 1 < 7 <i <i <i <i < {i <i <i < <i
0 1 < <i <1 <1 <1 i < <1 <1 i <1 <1
0,02 0.005 <0,005 - = <0.005 - = 0,005 = - <0.005 = -
0.005 0.0005 0,0005 = = - = = - = = - = =
3 0.3 0.6 0.8 0.8 0.8 0.8 0.6 0.6 0.6 0.5 0.6 0.7 0.4
5 8L ESBELT 0.1 73 743 7.26 720 WAL 716 24 729 761 752 748 740
el ne = EHEnl HEAT Hghr HEAT IR HEhT HEHT HErT HERT A i AT
HEThNCE = EHenl HEhl EHanl EHELL Hanl EELL EHanl HErl Hanl HELL STl
5 0.5 <05 <05 <0.5 <05 <05 <05 <05 <05 <0.5 <0.5 0.5
2 0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1
i 0.01 0.66 0.62 0.62 0.52 0.54 0.46 0.74 0.76 0./0 0.80 97




TESKiBiakE

Hit(E EE BESRIER
TR{E 48 58 64 78 8A 98 108 118 128 15 2H 38
= = TR S Bl S Bl b TR Sl ] S TR b
- = 2020/4/13 2020/5/1 1 2020/6/8 2020/1/6 2020/8/4 2020/9/1 2020/10/5 2020/1 1/9.1.2020/12/1 2021/1/5 2021/2/1 2021/3/1
z z 9.10 90 410 90 9] 9,10 9.55 4.00 400 950 "
z z 53 i B 551 B i 2 By iEh, 4] iEh. BEh
= = 8.8 22.2 247 23.6 30.1 31.9 22.5 14.6 9.9 1.5 10.6 16.1
= = 9.7 239 29.2 26.1 32.7 353 258 18.1 13.8 8.5 8.8 11.2
1 cfu/mL 100 0 0 0 0 0 0 0 0 1 0 0] 4 1
2 BHENC S = R PR AR AL AR Al AR AL AH AL A A
3 mg/L 0.003 0.0003 <0.0003 = <0.0003 <0.0003 - <0.0003 = = <0.0003 -
4 me/L 0.0005 0.00005 <0.00005 = = - = - = = = = = -
5 mg/L 0.0 0.00 <0.00 = = <0.00 <0.0 - <0.00 = = <0.00 = -
6 mg/L 0.0 0.00 <0.00 = = <0.00 <0.0 - <0.00 = = <0.00 = -
Vi me/L 0.0 0.00 <0.00 = = <0.00 <0.0 - <0.00 = = <0.00 = -
8 | mg/L 0.07 0.002 <0.00 = <0.002 <0.00 <0.00 - = <0.002 -
mg/L 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
mg/L 0.01 0.001 <0.001 = <0.001 = - <0.001 <0.001 -
mg/L 10 . 0.97 0.91 1. 25 1.22 1.80. 1.79 1.41 1. 88 1. 72 1.56 1. 51 1.32
mg/L 0.8 0.08 <0.08 <0 08 <0.08 <0.08 <0.08 <0.08 <0 08 <0 08 <0.08 <0 08 <0.08
mg/L 1.0 0.1 = <0.1 <0.1 - <0.1 <0.1 -
mg/L 0.002 <£0.0002 = = <0.0002 = - <0.0002 = = <0.0002 = -
7 ; e mg/L 0.05 <0.005 = = <0.005 = - <0.00% = = <0.005 = -
/Z—‘I 2—>/700T V]
16 BIRRS 2 —1 2—hO0 mg/L 0.04 <0.004 <0.004 <0.004 <0.004
YAPZi==F% V] mg/L 0.02 <0.0 = - <0.0 = - <0 = = <0 = -
8|Thz700IFL Y mg/L 0.0 < = - < = - < - - <0 - b
9 OTFL Y mg/L 0.0 < = - < = - < = - <0.00 - b
0|RY+ mg/L 0.0 <0, - = < = - < - = <0.00 = =
1 mg/L 0.6 6 <0.06 0.08 0.06 <0.06 0.09 <0.06 <0.06. 0.06. <0.06 <0.06
22 mg/L 0.02 <0.002 = - <0.002 = - <0.002 - = <0.002 = =
3 mg/L 0.06 0.003 = = 0.006 = - 0.004 - = <0.001 = =
415 mg/L 0.03 <0.003 - = <0.003 = - <0.,003 = = <0.003 = =
25 mg/L 0.1 0.001 = - 0.002 = - 0.003 - = 0.002 = =
X ,6 mg/L 0.01 <0.001 = - <0.001 = - <0.001 - = <0.001 = =
Vi me/L 0.1 0,007 = = 0.012 = = 0,011 z = 0.004 - =
8 [m]i i mg/L 0.03 <0.003 - = <0.003 = - <0.,003 = = <0.003 - b
910 /00t mg/L 0.03 0.002 = - 0.004 = - 0.004 - = 0.002 = =
0 [JOERILL mg/L 0.09 <0.001 = - <0.001 = - <0.001 - = <0.001 = =
31 TI')W-\?)I«TEF mg/L 0.08 <0.008 = - <0.008 = - <0.008 - = <0.008 - b
L 1.0 0.0 = = <0.01 - 0.0 - = <0.0 = =
L 0.2 <0.0 = - < 0.01 - <0.0 - = <0.0 = =
L 0.3 <0.03 - o <0.0 <0.03 - <0.03 - = <0.03 = =
L 1.0 <0.01 = = 0.02 0.01 - <0.01 - = <£0.01 = =
L 00 3 = = . 6.0 - .0 - - 9.6 - -
L 0.05 <0.001 = = <0.001 <0.001 - <0.001 - = <0.001 = =
L 00 5 5 6 5 6 6 5 9 6 (3 6 6
L 300 0.1 41.3 = = 46.0 53.6 - 50.2 - = 46.1 = -
L 50! 1 68 = = - = - = - = = =
L 0. 0.02 <0.02 - = - - - - - - = - -
0 1 < <1 <1 <1 <1 <1 < <1 <1 <1 <1 <1
0 1 < <1 <1 <1 <1 <1 < <1 <1 <1 <1 <1
0.02 0.005 <0.005 - - <0.005 = - <0.005 - = <0.005 = -
0.005 0.0005 0.0005 - - - - - = - = - = -
3 0.3 0.4 0.4 0.3 0.3 0.3 <0.3 0.3 0.3 <0.3 <0.3 < <0.3
EREITSEELT 0.1 756 7T 7.65 7 4] 755 756 758 752 759 757 755 751
H TN = HELL HELL HeELL HELL HELL HEELL HELL EBLL HELL HE2hL HEL Henl
HeThlos = HELL HELL HELL HELL HELL HELL HELL EBLL HELL HEElL HELL HeEhl
5 0.5 <0.5 0.6 <0.5 <0.5 0.6 0.6 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
2 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
1 0.01 0.48 0.68 0.66 0.68 0.48 0.42 0.30 0.62 0.66 0.80 0.86 0.76




IS kIRa KR

HAE(E EE BEERED
TRRIE 47 58 GH 78 8A 98 108 118 128 15 28 38
- - T i i T T T i
= = 2090/4/13 2020/5/1 i 2020/6/8 5020/776 2020/8/4 2020/9/1 2050/1075 2020/1 1781509071271 a051/175. | 5081/271 ] 5051 /371
= = 9:90 9;30 9:90 9:3 10 9:45 10:00 9:30 9:30 10 .
= - 551 ﬂ%h Ba A, [55] E%h ﬂ%h =Y @%h i, = BEAL
= = 79 194 25, 730 219 31.9 210 3.6 1.6 6.4 8.9
= = i 1 8 19.0 244 225 254 208 271 14.0 107 55 90
1 cfu/mL 100 0 0 0 0 0 0 0 0 0 0] 1
2 BEHEENEDCS = T#ﬁ‘t‘ A AR AR g AR g PN dan) A ARt A
3 me/L 0,003 06,0003 £0,0003 - - 40,0003 £0,0003 - £0,0003 = - £0,0003 = -
1 me/L 0.0005 0,00005 £0,00005 - = = - = = - - - - .
5 me/L 0.0 0,00 <000 - = 0,00 = 0,00 - - 0,00 - .
6 me/L 0.0 0.00 0,00 - = £0.00 = 0,00 - - <0.00 - .
7 me/L 0.0 0.00 0,00 - = £0.00 = 0,00 - - <0.00 - .
IR me/L 0,07 0,007 0,00 = = £0.00 - 0,00 = - 0,007 = =
me/L 0,04 0,004 0,004 06,004 20,004 0,004 {0,004 0,004 0,004 0,004 <0,004 0,004 0,004
me/L 0,01 0.001 0,001 - - - - 0,001 = - <0,001 - -
me/L 10 ) 2.75 958, 747 280 941 2.55 287 965 261 PN 263
me/L 0.8 0.08 0.09 0.08 0,09 0.09 0,09 0.10 0.09 0,08 0,09 0,08
me/L 1.0 - - <0.1 - <0.1 = - <01 =
me/L 0,002 - = - = 0,000 - - £0,0007 - .
7+ ; _— me/L 0,05 - = - = 0,005 - - <0,005 - .
/Z—‘I 2—o/700T s
16|37k sl 21 o shon ML 0.04 ! ) <0.004
AP Zi= kL] me/L 0,07 <0 - = <0007 - = <000 =z = 0 = -
§1FR550aIFLY me/L 0.0 < - = <0.00 - - { =z = 0 = =
) HIFLY me/L 0.0 < - = <0.00 - - { =z = 0.00 = =
0[REE me/L 0.0 <0.00 = = <0.00 = = < = = 0.00 = =
i me/L 0.6 0.27 0.37 045 0.2 0.18 0,20 0.2 0.95 0.33 0.13 0,17 0.16
/] me/L 0.02 0.0 - = 0,002 = = 0,007 = - 0,002 = =
3 me/L 0.06 0,00 - = 0,007 - - 0,004 =z = 0,002 = =
P, me/L 0,03 0 - = 0,003 - - 0,003 =z = 0,003 = =
i me/L 0.1 .00 - = 0,006 - - 0.006 =z = 0,003 = =
26 me/L 0.0 0 - = 0,001 - - 0.001 =z = 0,001 = =
i me/L 0.1 i - = 0.021 - - 0.018 =z = 0,010 = =
g fufide: me/L 0.03 0 - = 0,003 - - 0,003 =z = 0,003 = =
Y JOES OO IAY me/L 0.03 0,004 - = 0,007 - - 0,006 =z = 0,004 = =
0 [ D EERILL me/L 0.09 0,007 - = 0,001 - - 0,002 =z = 0,001 = =
31 7|'}be7)th|~ me/L 0.08 ) 0,008 - = <0,008 = - 0,008 =z = 0,008 = =
me/L 1.0 0.0 - = i 0,01 - 0.0 =z = <00 = =
me/L 0.2 0, 0.0 - = i 0,01 - <00 =z = <00 = =
me/L 0.3 0, <003 - = 3 0,03 - <003 =z = <003 = =
" % me/L 1.0 0, <0.01 - = 0] 0,01 = £0.01 = = £0.01 = -
SR me/L 00 0. 6 - = A = 12 = = 3 = -
37 —uju& EHILEN me/L 0,05 X 0,001 = = i 0,001 = 6,002 = = <0001 = =
i 00 p) 9 g ) 8 [ 8 8 g 9 i0 )
i 300 0.1 707 - = 68.1 = 9.7 = - 66.3 = =
i 50 i 117 - = p - - - = - = -
i 0, 0,02 20,02 = = = = = = = = = =
0 i < {j <i <i <i < {j <i <i i 4
0 i 4 <1 <1 <] <1 <i < <i <1 <1 <1 <
4,07 0,005 {0,005 - = <6.005 - - 0,005 = - 0,005 = -
0,005 0.0005 0,0005 - = = - - = = - - = -
3 0.3 05 0.5 05 04 05 0.3 04 0.4 0.3 03 FOK]
5EEIESEELT 0.1 752 753 749 743 746 Ly 746 7586 765 i)
HSThNCE - 2ELl 2Erl EEllL 2ErlL 2ETL 2Erl HEAl ol ZEErlL H2=rl 2l
HEThLoE - 2ELL 2El EEL 2ErL 2ELL 2wl Hehl EEIL HEhl 2EL
5 0.5 <05 <05 <05 <0 <05 <05 05 {05 <0.5 <05
p) 0.1 0.1 <01 <01 <01 <01 <01 0.1 <01 <0.1 0.1
i 0.01 0.90 0.65 0.60 0.74 0.58 0.46 0.46 0.67 1.04 0.95




